E08-024

In this circuit, a fixed resistor 

and a variable resistor, R, 

are connected in series 

to a 9V battery.

The resistance of R is increased.

The reading on the voltmeter across the battery (9V) does not change.

(a)
What happens to the reading on voltmeter V1?

Tick ONE box ()


It gets bigger.


It stays the same.


It gets smaller.

(b)
How would you explain your answer?

Tick ONE box ()


The total resistance is now bigger, so the voltage across it is bigger (V=IR).


This will make the current in the circuit less, so the voltmeter reading will fall (V=IR).


The total voltage across both resistors is equal to the battery voltage, which stays the same.

How confident are you that your answers to this question are correct? Tick ONE box ()


Very confident
Fairly confident
Not confident
Just guessing
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